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IMPROVEMENT / SUPPLEMENTARY EXAMINATION, OCTOBER 2022

Part — III Time : 2% Hours
HISTORY Cool-off time : 15 Minutes
Maximum : 80 Scores
(Map of World Accompanied)
(Hearing Impaired)

General Instructions to Candidates :
e Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.

e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.

e Read the instructions carefully.

e Calculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.
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1. Match Column ‘A’ with appropriate items from Column ‘B’ : 4x1=4)

A B
Ptolemy Printing Press
Michelangelo On Pleasure
Johannes Gutenberg Almagest
Lorenzo Valla The Pieta

2. Answer any 4 of the following questions :

(i)  The Royal capital of Mesopotamia.

(A) Uruk

(C) Babylon

(i1)) Who introduced the gold coin solidus ?

(A) Diocletian

(C) Tiberius

(B)
(D)

®)
(D)

(iii) The capital of the Abbasids :

(A) Damascus

(C) Rome

(B)
(D)

(iv) Who was the first Caliph ?

(A) Al

(C) Utman
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(B)
(D)

(4x1=4)

Mari

Ur

Constantine

Augusts

Baghdad

Oman

Abu Bakr

Umar
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(v) Meaning of the term ‘Homo Sapiens’.
(A) Tool maker (B) Wise man

(C) Upright man (D) Southern ape

(vi) Founder of the Society of Jesus.

(A) John Calvin (B) Martin Luther
(C) Copernicus (D) Ignatius Loyola
3. Arrange the following in chronological order : 4x1=4)

. Long March
e May 4" Movement.
. First Opium War

. Formation of Chinese Communist Party

4. Mark any 4 among the following on the outline Map of the World provided : (4 x 1=4)
(A) Mediterranean Sea
(B) Sahara
(C) Constantinople
(D) Mexico
(E) Peru

(F) Australia
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10.

11.

12.

13.

14.

15.

Answer any 8 questions from 5 to 14. Each carries 2 scores. 8 x2=16)

Write any two features of Hominoids.

Point out the geographical features of Mesopotamia.

Name the two leaders of the Protestant Reformation in Switzerland.

Elucidate what is Yasa.

Describe the term ‘Renaissance man’.

Evaluate the economic development of Australia under European Settlement.

Elucidate the ‘Long March’ in China.

Briefly explain the courier system of Genghis Khan.

Name the two rivers associated with Mesopotamia.

Name any two persons associated with Copernican Revolution.

Answer any 2 questions from 15 to 18. Each carries 3 scores. 2x3=06)

Elucidate the three principles of Sun Yat — Sen.
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Briefly describe the features of Mari.

Write a note on the administrative reforms of Constantine.

Point out the features of Mayan Culture.

Answer any 4 questions from 19 to 24. Each carries 4 scores. (4 x4=16)

How far the ‘Gold Rush’ is responsible for the industrial growth of America ?

The Industrial Revolution Started in Britain. Why ?

Analyse the contributions of Mesopotamians in the field at time reckoning and

Mathematics.

Identify the ways by which the early humans obtained food.

Explain the military system of Genghis Khan.

Analyse the features of Umayyad rule.

Answer any 2 questions from 25 to 28. Each carries S scores. 2 x5=10)

Describe the features of Aztec Civilization.
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26.

27.

28.

29.

30.

31.

Point out the differences between Australopithecus and Homo.

Briefly explain the 14™ century crisis in Europe.

Explain the social hierarchies existed in the Roman Empire.

Answer any 2 questions from 29 to 31. Each carries 8 scores.

Analyse the features of the three orders of feudalism.
Hints :

(a) The clergy

(b) The Nobility

(c) The Peasants

Prepare an essay on the contributions of Islam to the world.
Hints :

(a) Literature

(b) Science and Philosophy

(¢) Sufism

Analyse the major inventions and changes during the Industrial Revolution.

Hints :
(a) Iron and Coal Industry

(b) Cotton Spinning and Weaving Industry.
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For Question No. 4

Map of World
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